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1. Mathematical summary

1.1. Abelian group

1. Group (H,+) — set H, and an operation defined on H: +

e closure — for any a and b in H their ,sum” a + b is also an element of H
e commutativity —-Va,b€e H a+b=b+a

e associativity - Va,b,c€e H (a+b)+c=a+ (b+¢)

e there is an identity element - 30 €e H YVa € H a+0=a

« for any element there exists an inverse element ~Va € H 3o~ '€ H a+a ' =0
2. Field K = (H,+,+) — set H and to operations (additive) + and multiplicative -

o (H,+) Abelian group
o (H\{0},-) Abelian group
o multiplication is distributive with respect to addition — Va,b,c€ H a-(b+c¢)=a-b+a-c

3. Vector space V defined on a field K

(a) (V,+) is an Abelian group
(b) Multiplication with a scalar K xV -V —ae K,veV, a-veV
e YveVand Vo, e K (a+8) - v=a- v+ v
e Vu,veVandVae K a-(u+v)=a-u+a-v
e YveVandVa,f e K (a-flv=a- (8 v)
e 1-v =19, where 1 € K the identity element for multiplication

Examples for vector spaces:

(a)
(b) K™ : n x k matrices defined on field K
) K[z]: polynomials defined on field K
K|[z]: where Vf € K|[z], deg(f) <n
(0, 1]: real valued continuous function defined on the interval [0, 1]
Vv

= P(H): set of every subset of finite set H,
defined on a finite field K = {0, 1} with two elements
VA, Be H: A+ B=(A\B)U(B\A)and0-A=0,1-A=A



1.2 Homogeneous linear transformation 1 MATHEMATICAL SUMMARY

1.2. Homogeneous linear transformation

V and W vector space defined on field K
In case of A:V — W linear transformation, ha Va,y € V and a € K

o Alx+y)=A(z)+ A(y) (linearity)
o A(a-x) =a- A(x) (homogeneity)

Examples for linear transformations
¢ identity transformation

o differentiation

« counter-example: B: R — R, B(z) = 22

1.2.1. Matrix of a linear transformation

Given a linear transformation A : V' — W. We say that A is a matrix of A (for a fixed coordinates
system for vector spaces V and W) if Alv) =A-v YveV

Let [v] = [v1,..,v,] denote a fixed basis of vector space V', and [w] = [wy, .., w,,] denote a fixed basis of
vector space W, such that A(v;) = w,;. Then the columns of matrix A are the coordinate matrices of
w; (column vectors).

1.3. Image and kernel of a linear transformation
A:V — W is a linear mapping

o its image is: Im(A) = {w e W | Jv € V A(v) = w}
o its kernel is: Ker(A) = {v eV | A(v) =0}

([ Example 1. Calculation of the kernel and image of a linear mapping

Let A : R?® — R? be a linear mapping, which, in the canonical basis, is given by matrix A. Determine
the image and the kernel space of A. First of all, we solve the linear equation system Ax = 0.
1 2-1 2= il 2 =i 12 —1 101
A:(23—1>, Aw:O—><23—1‘8)~(0—11‘8)~(0—11‘8)~(0—11‘8) (1)
—1 1 = -11-210 03 -310 00 010 00010

/

Gauss elimination is necessary for determining both the image and kernel space of a matrix

We obtained that 1 = —z3 and x9 = x3, therefore, any & = (%?) = xg( % ) will satisfy the linear
equation system Axz = 0, for all z3 € R.
- the image space is spanned by the linearly independent columns of matrix A
- the kernel space is spanned by the linearly independent nontrivial solutions of equation system
Az = 0.

Az; =0, Vi =1,r, where r = dim(Ker(A))

,
v:Zciwi:O & =0 Vi=1,r

=1

i) =awo(4). (1)) = fo(3) #5(3) o9 5 g
ot s (1)) = o (7 o< 5} 2
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1.4 Determinant and rank of a matrix 1 MATHEMATICAL SUMMARY

(Theorem 1. Dimension theorem ]

{ For an arbitrary linear mapping A : V — W: dim(Ker(A)) + dim(Im(A)) = dim(V) J

Example 2. (General solution of a linear transformation) Determine the general solution of a system
of linear equations Ax = b.

First of all, we compute the general solution of the Homogeneous equation Ax = 0:

k

x), € {Z av; | o €R, v; eR", i = 1,k:} = span(vy, .., v;) = Ker(A) (5)
i=1

Then we need to find a special solution @, for the inhomogeneous equation Ax = b. Finally, the the

sum of the two will give the general solution of the inhomogeneous equation:

k
T;p € {mmh + Z a;v; | a; ER, v; € Rn, 1= L/C} =: ”mo’ih + Ker(A)” (6)
=1

Matlab 1. null, orth, rank

The kernel (or null) space of a linear transformation given by its matrix A can be computed in Matlab
as follows:

>A=[12-1;23-1;-11-217;
>> null(A)
ans =
-0.5774
0.5774
0.5774

The image space can also be computed by function orth, but note, that Matlab gives an orthonormal
basis for the image space, therefore, in general, it gives other vectors compared to those computed by
hand.

>> orth(A)

ans =
-0.5345 -0.0000
-0.8018 0.3162
-0.2673 -0.9487

You can check that the two vectors are indeed orthogonal.
Due to the fact that A : R® — R3 is a linear mapping into the same space, Ker(A) @ Im(A) = R3. In
Matlab we can check this as follows:

>> rank([null(A) orth(A)])
ans = 3

1.4. Determinant and rank of a matrix

Theorem 2. (Minor expansion theorem) The determinant of a matrix A can be computed as the sum of
an elements of a row or column multiplied by the corresponding signed minor determinant. Expansion

of det(A) along the ith row: det(A) = Y a;; - (=1)"7 - D;;
j=1

where a;; denotes an element of A in the ith row and jth column, and D;; is the corresponding minor
determinant, the sign of the minors varies as the black and white colors on the chess table: (—1)"*7.

a b ¢ O 0O 0O O 0O 0O O 0O 0O f i f d
Al=|d e fl=a|l0 e f|—-bld O fl+c|ld e O :aZ.—b‘ .+c‘ Z
g h 1 O h 1 g O 1 g h O ! g ¢t g
Source: Wikipedia.org, see also Wolfram.com =aet +bfg+ cdh — ceg — bdi — afh.
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https://en.wikipedia.org/wiki/Determinant
http://mathworld.wolfram.com/DeterminantExpansionbyMinors.html

1.5 Matrix inversion 1 MATHEMATICAL SUMMARY

Sarrus rule: a fast method the compute a 3 x 3 determinant
+ + +
air @12 @13 - a1l 412

SN X
a1 a2 a23 a1 a22
G N

asi as2 ass asi as2

-
-,
-

-
-
-

det(A) = 11022033 + Q12023031 1+ 413021032 — 13022031 — (110423032 — 412021033

The column rank of a matrix gives the number of linearly independent columns of the matrix. The
row rank of a matrix gives the number of linearly independent rows of the matrix.

o For any matrix, the two types of ranks are always the same and it gives the dimension of the larges
nonzero minor determinant of the same matrix. We denote it as: rank(A).

o Matrix A is called full-rank if its rank is rank(A) = min(nr. of rows, nr. of columns).

e A square matrix A is called full-rank if its determinant is nonzero.

1.5. Matrix inversion

Matrix A € T"*" is invertible < det(A) #0

Matrix inversion by using the adjugate matrix adj(A): A~! = ﬁ(madj (A).

In A € R2%2 case:

a b _ 1 ) 1 d b
A= A7t = adj(A) = (7)
c d det(A) ad —bc \—c a
In A € R?*3 case:
T
a a a a a a
ailp a2 ais 1 +| agg agg - ag} agg +| agi agg
—1 a2 a ail a ail a
A= |a a2 a2 AT = det(A) —|ass ass | +ladlass| —|asl ass (8)
a a a a a a
az1 ag2 ass +lass ass | —lass ass| +last azs

Example 3. (Determine the inverse of the following matrix)

A:<_12 (2)> det(A) = 4 adj(A)=<g _12) A_lz(o% 5%5)

1.6. Eigen values and eigen vectors (eigen value/spectral decomposition)

A:V =V (Vegy K test feletti vektortér) linearis leképezés
sajatvektora az & € V, « # 0 vektor, ha INe K A(z) =\ -z
Ekkor az x vektort az A leképezés \ sajatértékhez tartozoé sajatvektordnak nevezziik.

A sajatértékek a leképezés métrixabol szamolhatok. Nem szadmit, hogy milyen béazisokra vonatkozéan van
felirva a matrix, a sajatértékek mindig ugyanazok lesznek, mivel a sajatérték a leképezés tulajdonsaga.
A sajatvektorok is ugyanazok lesznek, azonban a kiindulédsi tér bazisdban koordindtdzva kapjuk ezeket.

Ar=X X — Jdx—-Ax=0 — AN -Axz=0
Ez egy homogén linedris egyenletrendszer, melynek az & # 0 vektor a megoldésa, tehat létezik nem

trividlis megoldas, mely azzal ekvivalens, hogy az egyutthatématrix oszlopai linearisan Gsszefiiggek,
vagyis a determinansa nulla.
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1.7 Basis transformation, diagonalization 1 MATHEMATICAL SUMMARY

Figyelem! A karakterisztikus polinom a Linearis algebra targybdl tanult alaktél eltér, azonban azzal
abszolutértékben megegyez, ezért azonos A értékek esetén nulla. A most hasznalt alakndal az A matrixhoz
képest a determindnsban nem csak a fatlobeli elemek véltoznak, hanem a fatlébeli elemek is, a (—1)-
szeresiikre.

o Characteristic polynomial: det(\] — A)
o A sajatértékek a karakterisztikus egyenlet gyokei: det(A] — A) =0

o A sajatvektorok a (A — A)x = 0 lineéris egyenletrendszer megolddsai a megfelel A értékekre
kiilén-kiilén szamolva

( Example 4.

Determine the eigen values and eigen vector of the following matrix!

A:(é _03> det<,\.((1] (1))—(; _03)>=‘A__21 /\33’=(>\—1)(>\+3) (9)

Eigen values: \y =1, 9 = —3

Eigen vector(s) for \; = 1:

0 0
-2 4

Eigen vector(s) for A = —3

8) - 2z4+4y=0 —> y=z/2 — v1=<1}2)-p peR\ {0}

4 010 0
<_2 00> - 4dx=-2z=0 —> z=0 - vg—(l)-q q € R\ {0}

. J

" Theorem 3. Cayley-Hamilton )

Every matrix satisfies its own characteristic equation In the special case, when A € R?*2:

Characteristic (polynomial) equation: A\? + Atr(A) + det(4) =0 (10)

According to this theorem we have: A% + Atr(A) 4 Idet(A) =0 (11)
& J
( Example 5. Cayley-Hamilton )

Legyen adott a kévetkez matrix:
‘/\ -1 =2

12
A:<3 4) -3 -4

5 w4 o r_ (7T 10y (5 10y (2 0\ _ (0 0
AT =54 2I‘(15 22) <15 20) (0 2>_<o 0) (13)

1.7. Basis transformation, diagonalization

‘:(A—l)(A—4)—6=)\2—5/\—2 (12)

Egy vektortérben az éppen tekintett bazis hatdrozza meg a vektorok koordinatamatrixat, ettl azonban
néha el kell térni. Ez egy linearis leképezés alkalmazasaval valésithatéo meg, melynek matrixat ugy kap-
juk, hogy a matrix oszlopaiba irjuk az 0j bazisvektorokat a régi bazis szerinti koordinatazva, majd a
kapott matrixon invertaljuk. A méatrix, és ezédltal a leképezés mindig invertalhatd, mivel bazist bazisba
visz, melyeknek vektorai linedrisan fiiggetlenek. Jelolje egy @ € V vector [e] bézis szerinti koordinata
matrixat zy), egy uj [v] bézis szerinti koordindtamétrixat pedig z[y). Legyen S matrix, melynek oszlo-
paiban az 1j bazisvektorok talalhaték S = ['vl, ...,vn]. Pontosabban fogalmazva, az S méatrix oszlopai
az 1j bazisvektorok [e] bazisban felirt koordindta matrixai legyenek: S = [vl[e], ceey vn[e]]. Ekkor
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1.7 Basis transformation, diagonalization 1 MATHEMATICAL SUMMARY

S7hoag =ap S-ap =2

Tehat az S matrix altal leirt leképezés valgjaban az Gj bazisra vonatkozd koordinatazast a régire transz-
formaélja, és az S~! matrix transzformal az 1j bazisba.

Example 6. (Basis transformations) This will be important at state-space transformations

We consider two vector spaces V = W (for simplicity let be both R?), and let be the following vectors
in R? (their coordinates matrices being given in the canonical basis [¢] = [e1, es] = [4, j] of R?):

e=(o) =) co=(7) cw=(3) w=(y) cw=(2)
g g g g g g

[e] = [e1,e2] is the canonical basis of V = W = R?, Furthermore, we consider [v] = [v1,v3] and
[w] = [w1,ws] be an alternative basis of vector spaces V and W, which are not canonical. Now we
consider a linear mapping A : V' — W, If we use on both sides (V' and W) the canonical basis, this

mapping can be given by matrix A: (V| 4 Wie):

0 -1
ae (0 7) -
In the starting vector space (V, from which 4 maps), we want to switch from the canonical basis [e]
to basis [v], similarly, in the image space (W, into which A maps), we want to switch to basis [w]. We

wonder, what would be the matrix of the linear mapping .A, which maps from V},j into V},. First, let
us define the following matrices:

Si=(v1 w2) = (vig ”2[e1)=<§) _01>’ 5_1=<_01 é) (16)

T = (wl w2) =] (wl[e] w2[e}) S (1 _1> ) T 1 = g <]_ —1) (17)
———/

this is the correct prescription

then we have that
v;=2Se; and e; =S v, (18)

The same is true for [w], as well.
Let be « be a point in vector space V. The coordinate matrix of @ in the canonical basis [e] is (3),

in other words:
3 3
z=3e = (e1 e) <0> = <0> (19)
[e]

Now, we want to compute the coordinate matrix of & in basis [v]

z=(er e) <§)=(S‘1v1 ) (3)25_1 S ®
) () o ()
=(v1 ) <_01 (1)> <g):(”1 vz) (—03) B <_03)[v]

What is important that we have a linear mapping: A:V — W, A(x) = y, furthermore

T = ST Yl = TV z=(e1 e) z=(v1 v2) Y

SR S (21)
2o} = S7'2 Y =T 'y y=(e1 ) -y = (w1 w2) Y

The coordinates matrices z, Z[y], Y] and y[,) are intentionally NOT denoted as vectors, since they
depend on the choice of the basis vectors (i.e. coordinates system). On the other hand, vectors & and
y are two well-defined elements of V' and W (eg. @ is the left upper corner of the blackboard), which
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1.8 Quadratic forms 1 MATHEMATICAL SUMMARY

are independent of the choice of the coordinates system.
Vg & Wy
Yie) = Azpe)
Az)=y { ) st © 17 = (A=1"'48 (22)
y w| T x v
[w] [v] Vig = Wy
Ypu) = Az = T~ A Sz = T Awgg = T yj) = yjuy (23)
—— ~——
Lle] Yle]

Egy A : V — V linedris transzformacié matrixa diagonalis, ha a sajatvektorok bazisira vonatkozban
irjuk fel. A sajatvektorok azonban nem minden esetben alkotnak bézist, ezért nem minden leképezés
irhaté le diagonalis matrixszal.

Egy linearis leképezés métrixa diagonalizdlhaté akkor és csak akkor, ha minden sajatértékére annak
algebrai és geometriai multiplicitisa megegyezik.
e egy )\ sajatérték algebrai multiplicitasa k, ha A k-szoros gyoke a karakterisztikus polinomnak.

o egy \ sajatérték geometriai multiplicitdsa k, ha a A\-hoz tartozé sajataltér (A-hoz tartozé sajatvek-
torok altal alkotott altér) k dimenzids.

0o -3 -3
Example 77A=| -3 0 -3 — A2=3, \3=—6
-3, =3 0

A 3 sajatérték algebrai multiplicitdsa tehat 2, a 6 sajatértéké 1.

—1 -1
A1,2 = 3 sajatértékhez tartozé sajatvektorok: vi = | 1 | -p, va=| 0 | -¢ p,g € R\ {0}
0 1
1
A3 = —6 sajatértékhez tartozo sajatvektorok: vs= | 1| -r re R\ {0}
1

A 3 sajatérték geometriai multiplicitasa tehat 2, a 6 sajatértéké 1, mindkét sajatértékre a multiplicitdsok
paronként megegyeznek, ezért a matrix diagonalizalhato. Ha a sajatvektorokat oszlopaiban tartalmazé
matrix S, akkor a leképezés diagondlis matrixa

D=S1.4.8 - A=S5-D.-5!

-1 -1 1 -1 2 -1 300
S=|1 0 1] S't=3--1 -1 2 - D=[0 3 0
0 1 1 1 1 1 00 —6

1.8. Quadratic forms

A kvadratikus alakok Q(x) : V' — T alaki leképezések, ahol V egy T test feletti vektortér. Mi specidlisan
Q(z) : R” — R leképezésekkel foglalkozunk. Altaldnos alakja:

n

Q(xl, . ,mn) = Z al-jxixj

1,j=1
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1.8 Quadratic forms 1 MATHEMATICAL SUMMARY

A kvadratikus alak felirhaté matrixszorzat alakban is, ahol a;; = A;; a matrix megfelel elemei. A mat-

s s 2

Q(x) = 2T Az = (Azx, x)

A kvadratikus alakhoz tartozé matrix nem egyértelm. A fatlobeli elemek egyértelmek, ezek az 22 alakt
tagok egyiitthatoi, azon kiviil azonban csak az a;j + aj; Osszegek ismertek (i # j).

Példa:

Q(x) = 322 + 4x129 — 73 kvadratikus alak t&bbféle matrixszal lefrhaté

3 4 3 2
(o B) 4= 2)

A szimmetrikus matrix egyértelmen tartozik a kvadratikus alakhoz, ezért ezt nevezziik a kvadratikus
alak matrixanak (a példdban Ay matrix).

Egy kvadratikus alak egy vektorhoz egy valés szamot rendel. Ennek lehetséges eljele alapjan osztalyozzuk
a kvadratikus alakokat, illetve ezzel ekvivalensen a szimmetrikus métrixokat. (Késbb ezt sokszor fogjuk
hasznalni stabilitdsi vizsgalatok soran.)

A Q(x) kvadratikus alak, illetve az ezt leir6 A szimmetrikus matrix

o pozitiv definit, ha (Az,x) >0 Vo e R"\ {0}
Megjegyzés: minden kvadratikus alak a nullvektor esetén nulla értéket vesz fel, (4-0,0) =0

o pozitiv szemidefinit, ha (Az,x) >0 Va e R"”
és Jy # 0, hogy (Ay,y) =0

o negativ definit, ha (Az,xz) <0 VzcR"\ {0}

o negativ szemidefinit, ha (Az,xz) <0 Vo € R" és Jy # 0, hogy (Ay,y) =0

o indefinit, ha pozitiv és negativ értékeket egyarant felvesz a kvadratikus alak.
A kvadratikus alakhoz tartozé A szimmetrikus matrix \; sajatértékei valésak, melyekkel a fentiekkel
ekvivalens feltételek fogalmazhaték meg. A Q(x) kvadratikus alak

e pozitiv definit < Vi A; >0

e pozitiv szemidefinit << Vi \;>0és35 X =0

e mnegativ definit < Vi \; <0

o negativ szemidefinit << Vi \; <0ésdj N\ =0

o indefinit < F A >06s35 <0
A kvadratikus alakot leiré métrix is diagonalizalhaté. Mivel egy szimmetrikus matrix kiilonboz sajatér-
tékeihez tartozd sajatvektorok ortogondlisak, ha diagonalizalhatd, akkor ortonormalt sajatbazis szerint
is diagonalizalhaté. Amennyiben valamelyik sajatérték geometriai multiplicitdsa nem 1, és a szamo-
l4s sordn nem ortogondlis sajatvektorokat kaptunk, akkor valamilyen ortogonalizciés eljardssal (pl.

Gram-Schmidt ortogonalizicié) elérhet, hogy a sajatalteret ortogondlis vektorok generédljak. Emellett a
vektorokat minden esetben normalni kell.
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1.9 Matrix calculus 1 MATHEMATICAL SUMMARY

Ekkor ha S az ortonormalt bazis vektorait tartalmazé matrix, akkor S—! = ST
A=S-D-S7!

2l A x=2"-S-D- St x=(x"- (ST).-D- (V- z)= (ST -x)T-D(-S7! x)
y=St.x=5T.2 — T A zxz=y"-D.y

1.9. Matrix calculus
Az exponencidlis fliggvény (exp(z) = e*) az aldbbi hatvanysorral definidlhato.

©  k
e’ = Z % (Taylor sorfejtés)
k=0

Elképzelhet, hogy egy fix paramétere is van a fiiggvénynek, példaul: a € R konstans, és t az id valtozo

242 > kik

at a“t a”t

=1 t+—+..= —

‘ rard 2 * k!
k=0

Az exponencidlis fliggvényt kiterjeszthetjiik matrixokra (matrix exponencialis),
ekkor exp : R"*" — R™"*".

A2 A3 . Aktk
At —
M =T+ A+ —— + +..._k§o o

Tulajdonsigok:

e ¢ =1, ahol 0 € R™*™ nullmétrix

e Ha AB = BA akkor e?ef = eAtB. Altaldban nem igaz a képlet, mivel a méatrix szorzds nem

kommutativ.
o e =T

eAteAs — ¢A(t+s) ahol A € R™™, ¢ s € R

At As 0 Aktk o0 Aksk
ce = Kl !
k=0 k=0
A2t2 A3 A2s2 A363
= (I+At+T+T—|—...)(I+As+ 5 + 5 +..)=

1 1
= T+ A(t+s)+ §A2(t2 + 2ts + 5%) + 8A3(t3 + 3ts? + 3t%s + 53) + ...

1 1
= T+ A(t+s)+A%(t+9)+ A3t + 5P+ .. =)
2 6 Pt

k!

Aktk—l

1
At — 2 1 43,2
—(e™) A+At+2At +"'+(k—1)!

1 1
= A(I + At+ 5A?th +.) =T+ At + 5A2t2 +..)A
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1.10 LDE 1 MATHEMATICAL SUMMARY

0 1 0 0
Example 8.4 = (0 0> B = <1 O)

eA:I+A+§!2+...:I+A:<(1)

—_ =

eB:I+B+]§!2+...:I+B:G

21 11
A_B _ B,A _
der = (1) e = (] )

01 10 0 1
A+B _ 1 1 -7 1,1 I 1,1 _
e +<1 0>+<O 1>'2]+<1 O>'3+--.— '(1+§+E+-..)+ /'(1+§+§+-..)—
(ch(l) sh(l))

sh(1) ch(1)

'd N\
Proposition 4. tetszleges diagonalizalhaté matrix exponencialis fiiggvénye

e

A=8DS"! = eA = SePS~! = Sexp . [ Sdiag(eh, eA”)S_l (24)
An

| J

Proof (inkdbb csak levezetés).

Ak = SDkS_l 5 Dk - . = dlag()‘llfa cy )‘ﬁ) (25)
Ak
Teljes indukcié:
AR = AF1A = (SDM1S7) (SDST!) = sDFS ! (26)

Ekkor a kdovetkezket csindlhatjuk:

>\ Ak = DF . (= - _ _ _
A=Y T =8Y S 1=5dlag<ZA’f,..,ZA,’;>s 1:Sd1ag<e>‘1,..,e’\”)5 L2
k=0 k=0

k=0 k=0
Teh4t, valéban e = SePS—1. O
r 2
Matlab 2. Métrixexponencidlis kiszamitasa — diagonalizacié (A = SDS™!) eig,expm,diag
>> A = rand(3,3) D = >> 8 * expm(D) / S
A= -0.1879 0 0 ans =
0.8147  0.9134  0.2785 0 1.7527 0 3.2881  2.2290  1.3802
0.9058  0.6324  0.5469 0 0 0.8399 2.2617  2.8712  1.7128
0.1270  0.0975  0.9575 0.4615  0.3910  2.7554
>> [S,D] = eig(A) >> expm(A)
S = ans = >> 8 * diag(exp(diag(D))) / S
0.6752 -0.7134  -0.5420 3.2881  2.2290  1.3802 ans =
-0.7375  -0.6727  -0.2587 2.2617  2.8712  1.7128 (... ugyanaz )
-0.0120 -0.1964  0.7996 0.4615  0.3910  2.7554
L J

1.10. Allandé Egyiitthatés Linedris Differencidlegyenletek

(A tovabbiakban a vektorérték valtozok, fiiggvények (pl. «) nem lesznek kiemelve.)

A targy keretében fleg elsrend lineéris differencialegyenletekkel foglalkozunk.
z(t) = Az(t) =(0) =z € R"

1. Ha A € R (skaldris eset), akkor a valtézok szétvilasztdsanak moédszerével meghatérozhaté a meg-
oldés.
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2 ALTALANOS PELDAK SZABALYZOTT RENDSZEREKRE

Megoldas: z(t) = ez, ahol 29 € R skalar
2. Ha A € R™*" akkor sziikséges az e'! matrix kiszamitasa.
) k sk
Megoldas: z(t) = eAlzy Al =300 AL

Kozelités: T+ At + 2L 4 .

Példa: Adott az alabbi csatolatlan differencidlegyenlet rendszer
i‘l = —X

fCQ = 21’2

] -1 0
T = Ax A—<O 2)

Mivel csak a diagonalis elemek nem nullak, a rendszer csatolatlan, ezért a valtozok szétvalasztasanak
modszerével a differencidlegyenlet megoldhato.

Amely atirhat6 a kovetkez alakra

r1(t) = cret

zo(t) = cge

ahol ¢; = x1, és c2 = 29,

2. Altalanos Példak Szabalyzott Rendszerekre

Controller System

Ym

Measurements

Rendszer: Olyan fizikai vagy logikai eszkoz, amely jeleken végez valamilyen mveletet. (Bemen jeleket
dolgoz fel, és kimen jeleket allit el.)
Példa rendszerekre, és szabdalyozasra

o Autd sebessége: beavatkozas: gazpedal, érzékelés: sebességmér, szabalyozis: humén vagy tempo-
mat

o Htszekrény hmérséklet: beavatkozas: htkdzeg mozgatdsa - kompresszor, érzékelés: hmér, szabalyo-
zas: szabalyozé automatika bedllitott hmérséklet elérése érdekében

o Tovabbi példak taldlhatdéak az FSB konyv els fejezetében, lasd a targy honlapjan!
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